ML Meguro Language Center

JLPT N4 Kanji Quiz - 12/34 Answer
M1 EFbabitit 28 ooE L=, HFikicenELT,

(1) #Fbabti 1 bbbt 2 LbHIHE 3 ¥Fbhbhbt FHLITH5E
(2) A& 1 WEHX 2 IFx 3 o0& WEHE)
(3) H ik 1 2L 2 bwol 3 Hbwob Hrol
Rl 2 (5% BHARTIC % T Bglc LELLY,

(1) DD 1 &5 2 b 3 I1ELHS U5
(2) /i 1 Lx<&ED 2 LxoEo 3 Lx& Lxo&E
3) A& 1 BwHrLx< 2 broLx< 3 WHL X< HrLx<
fil3 ZRROFTIE HE W HoTWEL,

(1) 72> 1 & 2 B 3 B B

(2) 1w 1 A 2 B 3 X =

(3) - T 1 F-T 2 fFoT 3 fFoT T
R4 ZoElT X28HD HE6HFET DHIZHEHTT,

(1) X% 1 % 2 K 3 M hi

(2) b 1 B 2 # 3 B

(3) DHTHE®D 1 JEATIED 2 EATIED 3 HATIE®D WAITIE®
M5 5PN BbhboT [FAIZ RDFELT,

(1) 5 RS 2 3 K S

(2) BbhboT 1 4o 7T 2 fEboT 3 KihoT WMo T
(3) x5 1 # 2 7 3 5 H



